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�� �� �	��� "#$ ���������� ��� ��
��� ����� ������� ��� #% ����������� &
���
��
���� ������� ������
�� '% ����������� �������� �� 
�������� 
���

p =
1

n

����� n ��������
� �� �(���� �� ���������� �� �� ��
��� ������
�� ��� ��� 
����  �� ��
���� 
����
����) ��� ���
������� ���*

p =
1

10
= 0,1mm

p =
1

20
= 0,05mm
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��� �� %�# �� � %�%, �� �����

��
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+��� �������� ��� ������) ��� �!�����) �� �����
�� �� ��� ����
�) ��	��� "#$� ��
���
����� �� �� ��	����
� �����*

#� -� �������� �� ��	�� ����� �� �����  �� �� ��!�
�  ���� �������� ��� �����
��
�����
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��� �!� .��
� �� 
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D + p d "#$

����� D ��������
� ��� ���������� �� �� ��
��� �!�) � d ��� �� �� ��
��� ������ ��
����
�� 
��� �� ������ �����
�*

4 +
1

10
· 5 = 4,5mm
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��� �� 
���
����
��) � 
��
���������� ���
���������� �� �� ��
��� �!�) D0 !��
� 
�� ��� �� �� �����) .��
�  �� �� (�
��� �� ��
��

���
��� 
�� ��� �������� �� �� ��
��� �!�) d0� 1� ������ �� ��
� 
��� �����
�

ε0 = D0 + p d0

������ ���������� ��� ������ 
��������  �� 
���� �� 
���
� ��
� ������ 3�4 ��
�.��� �� ������
� 
���� ��� ������� ���� �
����5���� �� ��
� ������

(D + p d) + ε0 = (D +D0) + p (d+ d0)
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6(���� ������ "xi$ ���������� "|xi − x̄|$
#

'

0

/

,

7

8

9

:

x̄ = ��

σ =

2 σ√
n

= L.E.E. = max (L.E.I. + 2 σ√
n
) =

l = ( ± ) mm
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��� �� �� �	��� ' ��
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��4����
�� +��� ��
������� �� �������) ��
��������� ��� ���(����� �� ��
�� 
���

��������; �� ��
� ����� �� ������� �� �� ����� �����
�

V = V1 + V2 − V3

�� ������� �� ��� ��	��
�� ������

�) ��� ��  �� ��������� �� ���	�
�� ��� 
�������
��4 
��� �� �����
��� �� ������� ��*

V =
πD2

4
h
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6(���� ������ "xi$ �� ���������� "|xi − x̄|$
#

'
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,
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8

9

:

x̄ = ��

σ =

2 σ√
n

= L.E.E. = max (L.E.I. + 2 σ√
n
) =

D1 = ( ± ) mm
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#

'

0

/

,

7

8

9

:

x̄ = ��

σ =

2 σ√
n

= L.E.E. = max (L.E.I. + 2 σ√
n
) =

h1 = ( ± ) mm
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6(���� ������ "xi$ �� ���������� "|xi − x̄|$
#

'

0

/

,

7

8

9

:

x̄ = ��

σ =

2 σ√
n

= L.E.E. = max (L.E.I. + 2 σ√
n
) =

D2 = ( ± ) mm
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σ =

2 σ√
n

= L.E.E. = max (L.E.I. + 2 σ√
n
) =

h2 = ( ± ) mm
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6(���� ������ "xi$ �� ���������� "|xi − x̄|$
#

'

0

/

,

7

8

9

:

x̄ = ��

σ =

2 σ√
n

= L.E.E. = max (L.E.I. + 2 σ√
n
) =

D3 = ( ± ) mm
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6(���� ������ "xi$ �� ���������� "|xi − x̄|$
#

'

0

/

,

7

8

9

:

x̄ = ��

σ =

2 σ√
n

= L.E.E. = max (L.E.I. + 2 σ√
n
) =

h3 = ( ± ) mm
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V1 =
πD2

1

4
h1

V2 =
πD2

2

4
h2

V3 =
πD2

3

4
h3
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��

dV =
∣∣∣
(
∂V

∂D

)
h

∣∣∣ dD +
∣∣∣
(
∂V

∂h

)
D

∣∣∣ dh
����� .���� 
����������  �� �� ����� �� π = 3,1415159 �� 
������ 
�� ��
�� 
�����) ��
��
� ��	���
�
��� 
�������� 
�� ��� ������� ��� �����
�� � �� �� ��
����

��
��������� ���� ��������� ���
�����

(
∂V

∂D

)
h
=

πD h

2

(
∂V

∂h

)
D

=
πD2

4

3��������� �� ����
��� ��
�� ������� ������
��*

ΔV =
πD h

2
ΔD +

πD2

4
Δh

=�
����
���� ��� ������� 
������������
�� ���� ��� ���
��
�� ���������

V1 = ( ± ) mm3

V2 = ( ± ) mm3

V3 = ( ± ) mm3
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V = V1 + V2 − V3

�� ����� ��

dV =
(

∂V

∂V1

)
V2,V3

dV1 +
(

∂V

∂V2

)
V1,V3

dV2 +
(

∂V

∂V3

)
V1,V2

dV3

�� ��
��
ΔV = ΔV1 + ΔV2 + ΔV3
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V = ( ± ) mm3
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.� ���

�
��

������ �� ��������

l = ( ± ) mm

������ ��� ������� �� ��� 
����

V1 = ( ± ) mm3

V2 = ( ± ) mm3

V3 = ( ± ) mm3

V = ( ± ) mm3
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